January 10 2013 2nd.gwb - 1/4 - Wed Jan 09 2013 09:22:50

Product Property  $\times^7 \cdot \times^3 = \times^4$  $X^{m} \cdot X^{n} = X^{m + n}$  $\frac{\mathcal{Q}_{k,0}+i_{k}+\mathcal{P}_{n}\mathcal{P}_{n}\mathcal{P}_{n}}{\chi^{n}} = \chi^{n-n} \qquad \frac{\chi^{5}}{\chi^{3}} = \frac{\chi_{1}\chi_{1}\chi_{2}\chi_{2}}{\chi_{1}\chi_{2}\chi_{2}} = \chi^{2}$  $\frac{\chi^3}{\sqrt{5}} = \chi^{-2} = \frac{1}{\sqrt{2}}$  $\frac{Negative expressions}{\chi^{-m} = \frac{1}{\chi^{m}}} \qquad 2\chi^{-3} = \frac{2}{\chi^{3}}$  $\frac{1}{X^{-m}} = X^{m} \qquad \qquad \frac{1}{X^{-q}} = X^{q}$ Power of a power  $\left(\times^{5}\right)^{3} = \times^{15}$  $(\times^m)^n = \times^{mn}$ Power of a product  $(x_y)^m = x^m y^m$   $(\chi^2 \chi^3)^4 = (\chi^3)^4 (\chi^3)^4 = \chi^8 y^R$ Power of a Quotient  $\left(\frac{x}{y}\right)^{m} = \frac{x^{m}}{y^{m}} y \neq 0 \left(\frac{x^{3}}{y^{5}}\right)^{2} = \frac{x^{6}}{\sqrt{10}}$  $\left(\frac{X}{Y}\right)^{-m} = \left(\frac{Y}{X}\right)^{m} = \frac{Y^{m}}{X^{m}}$  $\sum_{m=1}^{m} \frac{\chi^{m}}{\sqrt{m}} = \frac{\chi^{m}}{\chi^{m}}$ Zero Power ower  $5^{\circ} = 1$  $12^{\circ} = 12^{\circ} = 12$  $\chi^{o} =$  $(-1)^{0} = -1$ 

January 10 2013 2nd.gwb - 2/4 - Thu Jan 10 2013 09:17:08

Study tip to simplify • no powers of powers  $(x^2)^3$ · each base appears exactly once · all fractions in simplest form • no negative exponents  $\underbrace{(3_{x}_{y}^{2})(-4_{x}_{y}^{2})}_{3^{-4}} = -/2_{x}_{y}^{5}$  $\underbrace{(-2x^{4}y^{7}z^{2})^{3} = -8x^{12}y^{9}z^{6}}_{(-2)^{3}} (x^{7})^{3} (y^{7})^{3} (z^{2})^{3}$  $\underbrace{e^{\chi,\beta}}_{5x^2y^2} = 5x^2y^{-2} = \frac{5x^2}{y^2}$  $\frac{25}{5} \frac{\chi^4}{\chi^2} \frac{\chi'}{\chi^3}$  $\left(\frac{-18ab^{2}}{-24ac^{2}}\right)^{2} = \left(\frac{3a^{2}b^{2}}{4c^{3}}\right)^{2} = \frac{9a^{6}b^{4}}{16c^{6}}$  $\frac{-18}{-24}$   $\frac{6^4}{6}$  $\frac{\left(\frac{X^{4}Y^{2}}{X^{7}Y}\right)^{-3}}{\frac{X^{4}}{X^{7}}} = \left(\frac{X^{3}}{X^{7}}\right)^{-3} = X^{9}Y^{-3} = \frac{X^{9}}{Y^{3}}$  $\frac{\frac{X^{4}}{X^{7}}}{\frac{Y^{2}}{Y^{7}}} = \left(\frac{X^{3}}{Y^{7}}\right)^{-3} \left(\frac{Y^{3}}{Y^{7}}\right)^{-3}$ (ex.D)

January 10 2013 2nd.gwb - 3/4 - Thu Jan 10 2013 09:39:28

χ<sup>4</sup>.x<sup>4</sup>  $\frac{(2x^{2}y^{3})^{2}(3x^{4}y^{5})}{6x^{4}y^{2}} = \frac{4x^{4}y^{6}(3x^{4}y^{5})}{6x^{4}y^{2}}$  $=\frac{12x^8y''}{6x^4y^2}=2x^4y^9$  $\left(\frac{45m^{4}n^{2}p^{-7}}{9m^{-8}n^{4}p^{5}}\right)^{\circ} = 1$  $\frac{45m^{4}n^{2}p^{-7}}{9m^{-8}n^{4}p^{5}} = 5m^{12}n^{-2}p^{-12}$   $= \frac{5m^{12}}{n^{2}p^{12}}$ 2X (G.)  $\frac{S^{98}}{8^{76}} = 8^2 = 64$ 

p. 316-318 11-13, 16-17, 19-20, 22-23, 26, 31-32, 36, 40, 43, 47-48